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B BTE FE 52 49/ 101] 31.4] 69.6/ AE
EEEBAR IF 49 43 92| 22.3] 69.7AE
ML BRIE O MEE 53 48/ 101 31.3] 69.71IAE
M == #MF 44 49 93| 22.6| 70.4 AE
S FEH RAER 52 55| 107/ 35.5| 71.5|AE
66 B B2 50 47 97| 24.6| 72.4
1 EE £+ 50 43 93 19.1] 73.9
8 BAR EA 48 47 95| 21.1] 73.9
i BAHR [EE 50 51/ 101] 27.1| 73.9
1047 |jthEH  SEBH 50 45 95| 19.8/ 75.2
16 &l 3+ 52 50, 102] 26.8] 75.2
1260 AR HE 53 50, 103] 26.2| 76.8
1367 phll &% 53 52| 105] 27.7| 71.3
1461 & EA 43 44 87] 9.6| 77.4
1561 =% —i@ 45 50 95 17.5| 71.5
16461 KF%F  HBA 44 45 89| 11.4] 71.6
1761 80 F#EFB 45 48 93| 15.2| 77.8
184 ik #iE 52 53| 105] 26.9] 78.1
196 =¢ #¥E 48 48 96/ 17.5/ 78.5
2061 |JR uERE 52 49| 101 21.7] 79.3
2160 KX HEF 52 51 103] 23.4] 79.6
2241 #AK  BENE 55 46 101] 21.2] 79.8
26 | BH FX 48 48 96/ 15.6] 80.4
2461 KN R 47 51 98| 15.7| 82.3
254 I & 55 53| 108/ 25.2| 82.8
2660 Al EERF 69 49| 118] 35.2| 82.8
2741 JREA B 47 58/ 105/ 21.1 83.9
2861 B3 A+Z= 56 60 116/ 31.5 84.5
291 MAT XEBEF 50 50, 100| 14.9| 85.1
06 WMl HBiE 58 57 115| 29.6/ 85.4
31z #H  BhF 62 57| 119] 32.4 86.6
324z =B E|Bi 62 65| 127] 40.0/ 87.0
ML KE EETF 57 57| 114] 25.6] 88.4
46T BN =ER 59 64| 123] 34.4| 88.6
356 EHE =& 59 60 119] 30.0/ 89.0
366 HE AR 64 66/ 130] 40.0/ 90.0
376 IAX HF 59 69| 128/ 36.2| 91.8
8L HE T 64 61| 125| 30.7| 94.3
3961 AR #EELF 73 69  142] 40.0] 102.0
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